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Question Id : 92090614276 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question that follows.(Q01-Q05)

Lizard island is only 30km off the far North Queensland coast and 250km north of
Cairns, the northern-most city in north-eastern Australia. The 1,012-hectare island is
spectacularly rugged with vegetation ranging from grassland to rainforest and
encompassing pandanus swamp, eucalypt woodland and mangroves. The most recent
discoverers of this island were Sir Sydney Williams and another north Queensland
businessmen, Mr. John Wilson, now a Brisbane share-broker. For several years from 1968,
they camped on lizard island for annual fishing holidays and in 1974, after obtaining a
Queensland government lease with other businessmen, built four cabins for guests. In the
next step of development in 1978, they raised the number of bungalows to eight, then to
fifteen in 1982, and in 1984, ultimately the complex was bought by the Queensland State
Government Insurance office.

The island is consistently visited by those who seem to be quite carefull about their
health. Each has all the facilities expected in such an elegant resort including well-stocked
minibar. It is because of this that Australian Prime Ministers for a decade or so have taken
heed, as they constantly retreat to this island to rest, relax and lick the wounds of office.
Since this island attracts people from all over the world, most of the time it remains
packed. One of the island resort's founders, Queensland aviation pioneer, Sir Sydney
Williams, affirms that a sturdy Arab Sheikh once came ashore from a chartered luxury
yacht and tried to book a suite for the night. When told the place was full he hastily
produced a cheque book and offered to buy it.

Sub questions

Question Number : 1 Question Id : 92090614277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Lizard island is situated nearest from :
(1) Morth Australia
(2) South Australia

(3) Morth Queensland coast
(4) Cairns

Options :



92090656401. 1
92090656402. 2
92090656403. 3
92090656404. 4

Question Number : 2 Question Id : 92090614278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reasons prompted Arab Sheikh to buy the island?

(1)  He was impressed by the beauty of the island.
(2)  He wanted to stay there for a night.
(3) He felt offended due to refusal of accommodation.

(4) He wanted to bring in further developments in the island.

Options :

92090656405. 1
92090656406. 2
92090656407. 3
92090656408. 4

Question Number : 3 Question Id : 92090614279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true in the context of the passage?

(1) Lizard island has come up as a big tourist resort.
(2)  In the first step of development eight cabins were developed in the island.
(3) Lizard island has become a busy island.

(4)  Lizard island is full of greenery.

Options :

92090656409. 1
92090656410. 2
92090656411. 3
92090656412. 4

Question Number : 4 Question Id : 92090614280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the first and the foremost thing that stuck the discoverers for the development
of the island?

(A)  To build four cabins for guests.
(B) To associate Government offices.
(C)  To give a decorative look by growing vegetation.

(D)  To seek lease permission from the government.

Options :

92090656413. 1
92090656414. 2
92090656415. 3
92090656416. 4

Question Number : 5 Question Id : 92090614281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following discovered the Lizard island?

(1)  John Wilson and a Brisbane share broker.
(2) Brisbane share broker and a Queensland aviation pioneer
(3) Sydney Williams and a Queensland aviation pioneer

(4) South Queensland businessman and John Wilson.

Options :

92090656417. 1
92090656418. 2
92090656419. 3
92090656420. 4

Question Id : 92090614276 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Read the passage carefully and answer the question that follows.(Q01-Q05)

Lizard island is only 30km off the far North Queensland coast and 250km north of
Cairns, the northern-most city in north-eastern Australia. The 1,012-hectare island is
spectacularly rugged with vegetation ranging from grassland to rainforest and
encompassing pandanus swamp, eucalypt woodland and mangroves. The most recent
discoverers of this island were Sir Sydney Williams and another north Queensland
businessmen, Mr. John Wilson, now a Brisbane share-broker. For several years from 1968,
they camped on lizard island for annual fishing holidays and in 1974, after obtaining a
Queensland government lease with other businessmen, built four cabins for guests. In the
next step of development in 1978, they raised the number of bungalows to eight, then to
fifteen in 1982, and in 1984, ultimately the complex was bought by the Queensland State
Government Insurance office.

The island is consistently visited by those who seem to be quite carefull about their
health. Each has all the facilities expected in such an elegant resort including well-stocked
minibar. It is because of this that Australian Prime Ministers for a decade or so have taken
heed, as they constantly retreat to this island to rest, relax and lick the wounds of office.
Since this island attracts people from all over the world, most of the time it remains
packed. One of the island resort's founders, Queensland aviation pioneer, Sir Sydney
Williams, affirms that a sturdy Arab Sheikh once came ashore from a chartered luxury
yacht and tried to book a suite for the night. When told the place was full he hastily
produced a cheque book and offered to buy it.

Sub questions

Question Number : 1 Question Id : 92090614277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Lizard island is situated nearest from :

(1) Morth Australia
(2) South Australia
(3) Morth Queensland coast
(4) Cairns
Options :
92090656401. 1
92090656402. 2

92090656403. 3
92090656404. 4



Question Number : 2 Question Id : 92090614278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following reasons prompted Arab Sheikh to buy the island?

(1)  He was impressed by the beauty of the island.
(2)  Hewanted to stay there for a night.
(3) He felt offended due to refusal of accommodation.

(4) He wanted to bring in further developments in the island.

Options :

92090656405. 1
92090656406. 2
92090656407. 3
92090656408. 4

Question Number : 3 Question Id : 92090614279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true in the context of the passage?

(1)  Lizard island has come up as a big tourist resort.
(2)  In the first step of development eight cabins were developed in the island.
(3) Lizard island has become a busy island.

(4)  Lizard island is full of greenery.

Options :

92090656409. 1
92090656410. 2
92090656411. 3
92090656412. 4

Question Number : 4 Question Id : 92090614280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What was the first and the foremost thing that stuck the discoverers for the development
of the island?
(A)  To build four cabins for guests.
(B) To associate Government offices.
(C)  To give a decorative look by growing vegetation.
(D)  To seek lease permission from the government.
Options :
92090656413. 1
92090656414. 2

92090656415. 3
92090656416. 4

Question Number : 5 Question Id : 92090614281 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amongst the following discovered the Lizard island?

(1)  John Wilson and a Brisbane share broker.
(2) Brisbane share broker and a Queensland aviation pioneer
(3) Sydney Williams and a Queensland aviation pioneer

(4) South Queensland businessman and John Wilson.

Options :

92090656417. 1
92090656418. 2
92090656419. 3
92090656420. 4

Sub-Section Number : 2
Sub-Section 1d : 920906462
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions given in order from the options given
below: Furrow irrigation is conducted ___ creating small parallel channels the field
length __the direction predominant slope.

(1) by along, in of
(2) by, in for, of

(3) by, on, with, of
(4) by, on, along, of

Options :

92090656421. 1
92090656422. 2
92090656423. 3
92090656424. 4

Question Number : 6 Question Id : 92090614282 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions given in order from the options given
below: Furrow irrigation is conducted ___ creating small parallel channels the field
length __the direction predominant slope.

(1) by along, in of
(2) by, in for, of

(3) by, on, with, of
(4) by, on, along, of

Options :

92090656421. 1
92090656422. 2
92090656423. 3
92090656424. 4

Question Number : 7 Question Id : 92090614283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Change voice. 'The boys have been rewarded by the principal’.

(1)  The principal has awarded the boys.
(2)  The principal has rewarded the boys
(3)  The boys are rewarded by the principal
(4)  The principal rewarded the boys.

Options :

92090656425. 1
92090656426. 2
92090656427. 3
92090656428. 4

Question Number : 7 Question Id : 92090614283 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Change voice. 'The boys have been rewarded by the principal’.

(1)  The principal has awarded the boys.
(2)  The principal has rewarded the boys
(3)  The boys are rewarded by the principal
(4)  The principal rewarded the boys.

Options :

92090656425. 1
92090656426. 2
92090656427. 3
92090656428. 4

Question Number : 8 Question Id : 92090614284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate indirect speech for the direct speech given below.
She said "you see, you cannot meet the boss”.

(1) She said that | can't meet the boss.
(2) She told me that | could not meet the boss.
(3)  She says “you cannot meet the boss”.

(4)  "you cannot meet the boss” she says.

Options :

92090656429. 1
92090656430. 2
92090656431. 3
92090656432. 4

Question Number : 8 Question Id : 92090614284 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the appropriate indirect speech for the direct speech given below.
She said "you see, you cannot meet the boss".

(1) She said that | can't meet the boss.
(2) She told me that | could not meet the boss.
(3)  She says “you cannot meet the boss".

(4)  "you cannot meet the boss"” she says.

Options :

92090656429. 1
92090656430. 2
92090656431. 3
92090656432. 4

Question Number : 9 Question Id : 92090614285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fear of strange or foreign people, customs etc.

(1) Agrophobia
(2) Xenophobia
(3)  Arachnophobia
(4) Aerophobia

Options :

92090656433. 1
92090656434. 2
92090656435. 3
92090656436. 4

Question Number : 9 Question Id : 92090614285 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of strange or foreign people, customs etc.

(1) Agrophobia
(2) Xenophobia
(3) Arachnophobia
(4) Aerophobia

Options :

92090656433. 1
92090656434. 2
92090656435. 3
92090656436. 4

Question Number : 10 Question Id : 92090614286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



You are talking about the poorest and the most disadvantaged people in the country. To
play ducks and drakes with their service is reprehensible.

The underlined idiom in the above sentence means: -

(1)  to treat someone badly by being dishonest with them
(2) to show anger and criticism towards someone
(3) to take decisions without considering their feelings

(4) to increase the pressure on someone to make them do what you want them to

Options :

92090656437. 1
92090656438. 2
92090656439. 3
92090656440. 4

Question Number : 10 Question Id : 92090614286 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

You are talking about the poorest and the most disadvantaged people in the country. To
play ducks and drakes with their service is reprehensible.

The underlined idiom in the above sentence means: -

(1)  to treat someone badly by being dishonest with them
(2) to show anger and criticism towards someone
(3) to take decisions without considering their feelings

(4) to increase the pressure on someone to make them do what you want them to

Options :

92090656437. 1
92090656438. 2
92090656439. 3
92090656440. 4

Question Number : 11 Question Id : 92090614287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If m = 2, n = 3, then the value of 12mZn-3mn? is:

(1) 92
(2) 88
(3) 94
(4) 90
Options :

92090656441. 1
92090656442. 2
92090656443. 3
92090656444. 4

Question Number : 11 Question Id : 92090614287 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If m = 2, n = 3, then the value of 12m2n-3mn? is:

(1) 92
(2) 88
(3) 94
(4) 90
Options :

92090656441. 1
92090656442. 2
92090656443. 3
92090656444. 4

Question Number : 12 Question Id : 92090614288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Richa purchased a pen at 4/5" of its marked price. She then enhanced the marked price
by 20% and sold it at the new marked price. What is Richa's profit percentage?

(m 25%
(2) 50%
(3) 40%
(4) 60%
Options :

92090656445. 1
92090656446. 2
92090656447. 3
92090656448. 4

Question Number : 12 Question Id : 92090614288 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Richa purchased a pen at 4/5" of its marked price. She then enhanced the marked price
by 20% and sold it at the new marked price. What is Richa's profit percentage?

(m 25%
(2) 50%
(3) 40%
(4) 60%
Options :

92090656445. 1
92090656446. 2
92090656447. 3
92090656448. 4

Question Number : 13 Question Id : 92090614289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time
taken to fill the tank?

(1) 14 min 40 sec (2) 12 min 30 sec
(3) 11 min 45 sec (4) 10 min 20 sec
Options :

92090656449. 1
92090656450. 2
92090656451. 3
92090656452. 4

Question Number : 13 Question Id : 92090614289 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 15 minutes and 20 minutes respectively. Both the
pipes are opened together but after 4 minutes, pipe A is turned off. What is the total time
taken to fill the tank?

(1) 14 min 40 sec (2) 12 min 30 sec
(3) 11 min 45 sec (4) 10 min 20 sec
Options :

92090656449. 1
92090656450. 2
92090656451. 3
92090656452. 4

Question Number : 14 Question Id : 92090614290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A large cube is formed by melting three solid metallic cubes of sides 3cm, 4cm and 5cm
respectively. What is the ratio of the sum of the surface areas of the given cubes and that
of the new cube?

(1 21 2 32
(3) 25:18 (4) 27:20

Options :



92090656453. 1
92090656454. 2
92090656455. 3
92090656456. 4

Question Number : 14 Question Id : 92090614290 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A large cube is formed by melting three solid metallic cubes of sides 3cm, 4cm and 5cm
respectively. What is the ratio of the sum of the surface areas of the given cubes and that
of the new cube?

(1) 2 (2) 32
(3) 25:18 4) 27:20
Options :

92090656453. 1
92090656454. 2
92090656455. 3
92090656456. 4

Question Number : 15 Question Id : 92090614291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jayant invested a sum of Rs. 65,000 in two schemes and received Rs.7275 as interest after
2 years. In scheme | simple interest is payable at 6% per annum and in scheme Il
compound interest is payable at 5% per annum Find the ratio of sums he invested in
scheme | and scheme I.

(1) 1:1
(2) 76
(3) 5:4
(4) 34
Options :

92090656457. 1
92090656458. 2
92090656459. 3
92090656460. 4



Question Number : 15 Question Id : 92090614291 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jayant invested a sum of Rs. 65,000 in two schemes and received Rs.7275 as interest after
2 years. In scheme | simple interest is payable at 6% per annum and in scheme Il
compound interest is payable at 5% per annum Find the ratio of sums he invested in
scheme | and scheme IL.

(1) 1:1
(2) 76
(3) 5:4
(4) 34
Options :

92090656457. 1
92090656458. 2
92090656459. 3
92090656460. 4

Question Number : 16 Question Id : 92090614292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the figure will complete pattern of fig (x)?

Fig (X)
(1) (2)
(3) (4)

Options :
92090656461. 1



92090656462. 2
92090656463. 3
92090656464. 4

Question Number : 16 Question Id : 92090614292 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the figure will complete pattern of fig (x)?

Fig (X)
(M (2)
(3) (4)

Options :

92090656461. 1
92090656462. 2
92090656463. 3
92090656464. 4

Question Number : 17 Question Id : 92090614293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a painted cube is cut into 125 small identical cubes, how many smaller cubes have
no face painted?

(1) 27 (2) 64
3) 8 4) 16
Options :

92090656465. 1



92090656466. 2
92090656467. 3
92090656468. 4

Question Number : 17 Question Id : 92090614293 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a painted cube is cut into 125 small identical cubes, how many smaller cubes have
no face painted?

(1) 27 (2) 64
(3) 8 (4) 16
Options :

92090656465. 1
92090656466. 2
92090656467. 3
92090656468. 4

Question Number : 18 Question Id : 92090614294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given series: 12, 30, 120, 460, 1368, 2730

Observe the series given and by establishing the same relation in senes 16, (A), (B), (C), (D),
(E), find what will come in place of (D)?

(1) 1384
(2) 2642
(3) 2808
(4) 1988
Options :

92090656469. 1
92090656470. 2
92090656471. 3
92090656472. 4

Question Number : 18 Question Id : 92090614294 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given series: 12, 30, 120, 460, 1368, 2730

Observe the series given and by establishing the same relation in senes 16, (A), (B), (C), (D),
(E), find what will come in place of (D)?

(1) 1384
(2) 2642
(3) 2808
(4) 1988
Options :

92090656469. 1
92090656470. 2
92090656471. 3
92090656472. 4

Question Number : 19 Question Id : 92090614295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the pair that has the same relationship as the original pair of words given below.
Diva: opera

(1) Thespian: Play

(2) Conductor: Bus
(3) Director: Drama
(4) Producer: Theater

Options :

92090656473. 1
92090656474. 2
92090656475. 3
92090656476. 4

Question Number : 19 Question Id : 92090614295 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the pair that has the same relationship as the original pair of words given below.
Diva: opera

(1)  Thespian: Play

(2) Conductor: Bus
(3) Director: Drama
(4) Producer: Theater

Options :

92090656473. 1
92090656474. 2
92090656475. 3
92090656476. 4

Question Number : 20 Question Id : 92090614296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X is facing east, he turns 100° in the clockwise direction and then 145° in the anti-
clockwise direction. Which direction X is facing now?

(m East (2) MNorth-East
(3) MNorth (4) South-West
Options :

92090656477. 1
92090656478. 2
92090656479. 3
92090656480. 4

Question Number : 20 Question Id : 92090614296 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X is facing east, he turns 100° in the clockwise direction and then 145° in the anti-
clockwise direction. Which direction X is facing now?

(1 East (2) MNorth-East
(3) Morth (4) South-West
Options :

92090656477. 1



92090656478. 2
92090656479. 3
92090656480. 4

Question Number : 21 Question Id : 92090614297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Air Force Day is celebrated every year on ?

(1) 80«ct (2) 8 Sept

(3) 8 Aug (4) & Nov
Options :

92090656481. 1
92090656482. 2
92090656483. 3
92090656484. 4

Question Number : 21 Question Id : 92090614297 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Air Force Day is celebrated every year on ?

(1) 80«ct (2) 8 Sept

(3) 8Aug (4) 8Nov
Options :

92090656481. 1
92090656482. 2
92090656483. 3
92090656484. 4

Question Number : 22 Question Id : 92090614298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements which are correct are:
(A)  Indian system of governance has federal structure. It is a three tiered system, each
tier having executive functions.

(B) According to the constitution of India, central government is the highest executive
body of India and the first tier of system.

(C)  State Governments represent second tier and are managed by ruling governments
in each state but they have no executive powers.

(D)  Third tier is local level governance, only of panchayat.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4)  (A), (B) and (D) only

Options :

92090656485. 1
92090656486. 2
92090656487. 3
92090656488. 4

Question Number : 22 Question Id : 92090614298 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The statements which are correct are:
(A)  Indian system of governance has federal structure. It is a three tiered system, each
tier having executive functions.

(B) According to the constitution of India, central government is the highest executive
body of India and the first tier of system.

(C)  State Governments represent second tier and are managed by ruling governments
in each state but they have no executive powers.

(D)  Third tier is local level governance, only of panchayat.

Choose the correct answer from the options given below :

(M (A), (B) and (C) only
(2) (A) and (B) only
(3) (B) and (D) only
(4)  (A), (B) and (D) only

Options :

92090656485. 1
92090656486. 2
92090656487. 3
92090656488. 4

Question Number : 23 Question Id : 92090614299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nethanna Bima' is flagship scheme of which Indian State?

(1) Karnataka (2) Tamilnadu
(3)  Andhra Pradesh (4) Telangana
Options :

92090656489. 1
92090656490. 2
92090656491. 3
92090656492. 4

Question Number : 23 Question Id : 92090614299 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Nethanna Bima' is flagship scheme of which Indian State?

(1) Karnataka (2) Tamilnadu
(3)  Andhra Pradesh (4) Telangana
Options :

92090656489. 1
92090656490. 2
92090656491. 3
92090656492. 4

Question Number : 24 Question Id : 92090614300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement | : Corporate tax is an indirect tax which is levied on company's profit. It
Is imposed on registered companies and corporation.

Statement || : It is calculated on profits before interest and allowance (i.e. capital
allowance) have been deducted.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090656493. 1
92090656494. 2
92090656495. 3
92090656496. 4

Question Number : 24 Question Id : 92090614300 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement | : Corporate tax is an indirect tax which is levied on company's profit. It

is imposed on registered companies and corporation.

Statement || : It is calculated on profits before interest and allowance (i.e. capital

allowance) have been deducted.

In the light of the above statements, choose the correct answer from the options given

below:

(1)
(2)
(3)
(4)

Options :

Both Statement | and Statement Il are true
Both Statement | and Statement Il are false
Statement | is true but Statement Il is false

Statement | is false but Statement Il is true

92090656493. 1
92090656494. 2
92090656495. 3
92090656496. 4

Question Number : 25 Question Id : 92090614301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Fairs & festivals States
(A) MNada Habba () Kerala
(B) Vishu ()  Karnataka
(C) Rath Yatra ()  Himachal Pradesh
(D) Chaitraul (IV) Odessa

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(), (C)-(1v), (D)-(1)
(2)  (A)-(). (B)-(I), (C)-(IV), (D)-(1I)
(3)  (A)-(V), (B)-(IN), (O)-(1), (D)-(1)
(4)  (A)-(m), (B)-(1v), (O)-(1), (D)-(lI)

Options :

92090656497. 1
92090656498. 2
92090656499. 3
92090656500. 4

Question Number : 25 Question Id : 92090614301 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
Fairs & festivals States
(A) MNada Habba () Kerala
(B) Vishu ()  Karnataka
(C) Rath Yatra ()  Himachal Pradesh
(D) Chaitraul (IV) Odessa

Choose the correct answer from the options given below:

(1) (A=), (B)-(1, (C)-(IV), (D)-(1)

(2) (A=), (B)-(1), (O)-(IV), (D)-(111)

(3)  (A)-(V), (B)-(IN), (O)-(11), (D)-(1)

(4)  (A)-(), (B)-(IV), (O-(1), (D)-(1)
Options :

92090656497. 1
92090656498. 2
92090656499. 3
92090656500. 4

Part B: Nanoscience

Section Id : 920906284
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906463
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090614302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ziegler — Natta catalyst involves the metal

(1) Cr 2y Tr
(3) Fe (4) Mn
Options :

92090656501. 1
92090656502. 2
92090656503. 3
92090656504. 4

Question Number : 26 Question Id : 92090614302 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRTER e aR® 19 | 9 fg urg # g g

dy e &) T
(3) Fe (4) Mn
Options :

92090656501. 1
92090656502. 2
92090656503. 3
92090656504. 4

Question Number : 27 Question Id : 92090614303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When 10 mol of N2 and 20 mol of H: are passed through a catalytic converter, after
some time 5mol of NHj are produced. The total number of unreacted mol of N2 and Hz
18 :

(1) 10 (2) 125
(3) 20 4y 7.5
Options :

92090656505. 1
92090656506. 2
92090656507. 3
92090656508. 4



Question Number : 27 Question Id : 92090614303 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O N> & 10 HId 31R Ho & 20 A0 U oS! 9Rad® 4 oRd ¢, $© 9Ad &1 5 ATd NH;
JAIEd B1d 81 N2 3R H, & P fdsa Hidl (F%Hd 38 S |

(1) 10 (2} 125
(3) 20 4) 7.5
Options :

92090656505. 1
92090656506. 2
92090656507. 3
92090656508. 4

Question Number : 28 Question Id : 92090614304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The reaction from the following that involves carbocation intermediate 1s

(1) Aldol reaction
(2) Chlorination of methane
(3) Reimer Tiemann reaction

(4)  Hydrolysis of test butylehloride

Options :

92090656509. 1
92090656510. 2
92090656511. 3
92090656512. 4

Question Number : 28 Question Id : 92090614304 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o & ¥ St sifvy fosan negadt sefeega # 8l 8

(1) UGS foban 2) HIYA &1 FIRHIBI
(3) R A o (@) TE HTEATIARIGS P o STHeH

Options :



92090656509. 1
92090656510. 2
92090656511. 3
92090656512. 4

Question Number : 29 Question Id : 92090614305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bond order in O,, O] and O] are

(1) 2. 2.5 and 1.5 respectively
(2) 2.5, 2 and 1.5 respectively
(3) 1.5, 2.5 and 2 respectively

(4) 2.5, 1.5 and 2 respectively

Options :

92090656513. 1
92090656514. 2
92090656515. 3
92090656516. 4

Question Number : 29 Question Id : 92090614305 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0,. 0; 3R 0, Hd&y HH 3|

(1) HI:2, 253715 (2) THE:25 2315
(3) HEE 15,25 3R 2 (4) THHEE: 25,15 N2
Options :

92090656513. 1
92090656514. 2
92090656515. 3
92090656516. 4

Question Number : 30 Question Id : 92090614306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Total numbers of nucleophiles from the following 1s
H:0, (CHs)sP, HsCeSH, NH3,(HsC)sC®, CN-, H30®

1) 6 2) 5
(3) 4 4) 7
Options :

92090656517. 1
92090656518. 2
92090656519. 3
92090656520. 4

Question Number : 30 Question Id : 92090614306 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 A Fa fed gfFasifteed €,

H20, (CH3)3P, HsCsSH, NH3,(H3C)sC®, CN°, H:0®

(1 6 (2) 5
(3) 4 4) 7
Options :

92090656517. 1
92090656518. 2
92090656519. 3
92090656520. 4

Question Number : 31 Question Id : 92090614307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Volume occupied by 20.0 g of Hzat STP is

(1) 224L (2) 224 L
(3) 224L 4) 11.2L
Options :

92090656521. 1
92090656522. 2
92090656523. 3
92090656524. 4



Question Number : 31 Question Id : 92090614307 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 U9 H2 &1 STP W fadmT smaa- giar g1

(1) 224 diex (2) 224X
(3) 224 @eX (4) 112 dex
Options :

92090656521. 1
92090656522. 2
92090656523. 3
92090656524. 4

Question Number : 32 Question Id : 92090614308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Type of bond present in CuS04-5H20 is

(1) Electrovalent bond

(2) Covalent bond

(3) Co-ordinate hond

(4) Electrovalent, covalent and co-ordinate bond
Options :
92090656525. 1
92090656526. 2

92090656527. 3
92090656528. 4

Question Number : 32 Question Id : 92090614308 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CuSOs - 5H.0 ¥ [T UHR F1 26w a1 82
(1)  degad g smEe
(2) HgHdNl ey
(3) JUUE Ggiaddl Tay
(4)  degd gl Heudrel 3R SugsHaeidd dy

L—



Options :

92090656525. 1
92090656526. 2
92090656527. 3
92090656528. 4

Question Number : 33 Question Id : 92090614309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A process 1s spontaneous at all temperatures if

(1) AH<0and AS=0 (2) AH=>0and AS=0
(3) AH>=0and AS<0 (4) AH=0and AS <0
Options :

92090656529. 1
92090656530. 2
92090656531. 3
92090656532. 4

Question Number : 33 Question Id : 92090614309 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% UhH gyt a0 I Wd: gidr g afe -

(1) AH < 0 3R AS > 0 (2) AH>03RAS>0
(3) AH > 0 3T AS < 0 (4) AH=03RAS <0
Options :

92090656529. 1
92090656530. 2
92090656531. 3
92090656532. 4

Question Number : 34 Question Id : 92090614310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



KMnQ, acts as a

(1)  Strong reducing agent
(2) Strong oxidizing agent
(3) Weak reducing agent.
(4) Weak oxidising agent.

Options :

92090656533. 1
92090656534. 2
92090656535. 3
92090656536. 4

Question Number : 34 Question Id : 92090614310 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

KMnOs T4 &l g

(1) Uad AU $RS Bl e (2) vdd fFBRS Pl e
(3) gdd USRS DI Re 4) gdd AHRIFRSD DI e
Options :

92090656533. 1
92090656534. 2
92090656535. 3
92090656536. 4

Question Number : 35 Question Id : 92090614311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Work done by the system when 6 mol of an ideal gas at 25°C is undergoing expansion
reversibly from initial volume of 5 dm? to final volume of 50 dm®.
(given R = 8.314 J K" mol")

(1) -285kd (2) 285 kd
(3) 2850 kdJ (4) 28.5kd
Options :

92090656537. 1
92090656538. 2
92090656539. 3
92090656540. 4



Question Number : 35 Question Id : 92090614311 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sd 25°C AI9HM W U G 719 & 6 Hid &l JcpHUITT TR 8 U URMIE A™d 5 dm?
¥ 3ifaH 3maad 5 dm? 81 9I1d1 €, Mo/ g1 i a1 & giar g

AT R = 8314 ) K" mol)

(1) -285 fda@ (2) 285 fhdrd
(3) 2850 fFaea (4) 28.5 fFarem
Options :

92090656537. 1
92090656538. 2
92090656539. 3
92090656540. 4

Question Number : 36 Question Id : 92090614312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Solubility product for a salt AB is 1.6 % 104, Solubility of the salt in water is

(1) 16 mol dm— (2) 4 % 10-%mol dm—
(3) 4 x 10-% mol dm— (4) 1.6x 10~ mol dm-
Options :

92090656541. 1
92090656542. 2
92090656543. 3
92090656544. 4

Question Number : 36 Question Id : 92090614312 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AB AU B! fdiTdl 0% 1.6 x 107° §, 39 dV &I ofc H faeidar g1

(1) 16 mol dm™ (2) 4 x 10 mol dm™
(3) 4 x 10 mol dm™ (4) 1.6 x 10" mol dm™

Options :



92090656541. 1
92090656542. 2
92090656543. 3
92090656544. 4

Question Number : 37 Question Id : 92090614313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of disintegrations per second undergone by 1g of iiﬂRa is :

(Given: Rate constant k = 1.37 x 10-11 g°1)

(1) 2.666 x 1021 gl gl (2) 3.66x1010g1 g1
(3) 0.049 x 1010 g-1 -1 (4) 3.66x 108 gl gl
Options :

92090656545. 1
92090656546. 2
92090656547. 3
92090656548. 4

Question Number : 37 Question Id : 92090614313 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
19 226Ra @1 ufd Afpvs faad T g1 (a1 & Fadid a¥ k=137 x 10717 s

(1) 2666 x 10°' g's™ (2) 366 x10"%g" s
(3) 5.049x10"Y¢g"s" (4) 366x10%g"s!
Options :

92090656545. 1
92090656546. 2
92090656547. 3
92090656548. 4

Question Number : 38 Question Id : 92090614314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct IUPAC Name of the following compound is
GHG—GH:UH—QH—GH:CHQ
CHz - CH2 - CH:2 - CHs
(1) 4 — Butyl — 2, 5 — hexadien—1 — al
(2) 5—Vinyloct —3 —ene—1-—al
(3) 5-Vinyl-5-ene-8-al
(4) 3 — Butyl — 1,4 — hexadien — 8 — al

Options :

92090656549. 1
92090656550. 2
92090656551. 3
92090656552. 4

Question Number : 38 Question Id : 92090614314 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 diff1e &1 Fel IUPAC ATH B

OHC—CH = CH-CH-CH = CH;,
|

CH: -CHz-CHz2-CH3

(1)  4-SUCTI3d -2, 5 - gHISIZA - 1 - 3
) 5-faEasfiee -3-39-3@-1-3@
(3) 5-faBa-5-39-8- 3@

(4) 3-SgCI3d- 1,4 — RIS - 8 — 3fd

Options :

92090656549. 1
92090656550. 2
92090656551. 3
92090656552. 4

Question Number : 39 Question Id : 92090614315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is the most stable radical?

(1) CH, (2) R-CH,
(3) R,CH @) R,C
Options :

92090656553. 1
92090656554. 2
92090656555. 3
92090656556. 4

Question Number : 39 Question Id : 92090614315 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 @ S vl wrft Eiea |

(1) CH, (20 R-CH,
(3) R,CH @ R,C
Options :

92090656553. 1
92090656554. 2
92090656555. 3
92090656556. 4

Question Number : 40 Question Id : 92090614316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The primary valency of Fe in [Fe (CN)g]# is:

(1) +2 (2) +1
(3) +3 (4) 2.5
Options :

92090656557. 1
92090656558. 2
92090656559. 3
92090656560. 4

Question Number : 40 Question Id : 92090614316 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

[Fe (CNJs]* T Fe &1 URMYF Hdioishdl ¢l

(1) +2 (2) +1
(3) +3 4) 25
Options :

92090656557. 1
92090656558. 2
92090656559. 3
92090656560. 4

Question Number : 41 Question Id : 92090614317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The order of reaction is

(1) Never fractional.
(2) Never zero.

(3) Always equal to stoichiometric number of reactants in balanced chemical
equation.

(4)  An experimentally determined quantity.

Options :

92090656561. 1
92090656562. 2
92090656563. 3
92090656564. 4

Question Number : 41 Question Id : 92090614317 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fiiferar &1 Hife gidi &
(1) & aiifE =gt
2) vl gl

(2)
@)  Hqfad TaEe gHieu d gaEn wisfedaies de & aRia
(4)

U® UEife 9 3 FAyia e



Options :

92090656561. 1
92090656562. 2
92090656563. 3
92090656564. 4

Question Number : 42 Question Id : 92090614318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The bond angles in NH3 and H=z0 are

(1) 109°28" and 107°48 respectively
(2) 107°48" and 109°28’ respectively
(3) 107°48" and 104°27 respectively
(4) 107°48" and 107°48" respectively

Options :

92090656565. 1
92090656566. 2
92090656567. 3
92090656568. 4

Question Number : 42 Question Id : 92090614318 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NH; 3R H.0 H 3{1de B0 g1d ¢

(1) A 10928’ iR 107°48°
(2)  hH: 10748 3R 109728"
(3)  PHR: 10748 3R 104727’
(4)  THHE: 107°48' SR 107°48

Options :

92090656565. 1
92090656566. 2
92090656567. 3
92090656568. 4

Question Number : 43 Question Id : 92090614319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

If A° [!:_J.EJ’J: 119.0 S em? mol™! and 4° ((11‘1 )= A S e el - Hhen
A'm(CaCl, )= S cm® mol '

(1) 271.6 (2) 27.16
(3) 152.6 (4) 119.0
Options :

92090656569. 1
92090656570. 2
92090656571. 3
92090656572. 4

Question Number : 43 Question Id : 92090614319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4° (Ca%*)=119.0 S em? mol™! 3R 2° (C17)=76.3 S em? mol ™! T4
A m(CaCl, )= Sem” mol™

(1) 2716 (2) 27.16
(3) 152.6 4) 119.0
Options :

92090656569. 1
92090656570. 2
92090656571. 3
92090656572. 4

Question Number : 44 Question Id : 92090614320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The rate constant for a certain first order reaction is 1.60 x 10-5 51 at 600 K. The
energy of activation for the same is 209 kJ mol-!. The rate constant for the same
reaction at 700 K is (Given R =8.314 J K- mol1-).

(1) 6.36 x 10 (2) 6.36 x 10
(3) 6.36 x 105 (4) 3.2x10°
Options :

92090656573. 1
92090656574. 2



92090656575. 3
92090656576. 4

Question Number : 44 Question Id : 92090614320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

600 K 98 TR WyH Hife ffhar & Fadid 83X 1.60x10° 577 81 39& fo Ifshau
Sl 209 k) mol-' €1 700 K dIT9HM WX 39 fifehar & o Fadie X gidl g

(1) 636 x 107 (2) 6.36 x 103
(3) 6.36x10° ) 3.2x10°
Options :

92090656573. 1
92090656574. 2
92090656575. 3
92090656576. 4

Question Number : 45 Question Id : 92090614321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement 1 : is more reactive towards electrophilic aromatic

substitution reaction than /@r
o : LOCH,
Statement II  : (N : on reaction with NaOCH: gives U:N

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement 11 are falze
(3 Statement I is true but Statement 11 is false

(4) Statement I is falze but Statement 11 1z true

Options :



92090656577. 1
92090656578. 2
92090656579. 3
92090656580. 4

Question Number : 45 Question Id : 92090614321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 2 HuA Ry e e

P | - f@fﬁwﬁmmmmqﬁmfﬂhm
SffHferarefia 81

Tl MTHFNaOCH.—; 9 HIFTFAR l;flaqm%l

I FYA & fdid H A feu o fasedi 7 4 9gl Il 994 $ifvig

M) BRI Id s

2)  FYT IR ISH A E

(3) @Y TA g, Al Y || 3T 8
(4) DY A §, Albd YA | I 8

Options :

92090656577. 1
92090656578. 2
92090656579. 3
92090656580. 4

Question Number : 46 Question Id : 92090614322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List IT:

List I (Ligand) Last IT (Type)
(A) CN (I) Polydentate
(B) CO (I) Didentate
(C) EDTA* (IIT) Ambidentate
(D) C;_Dj_ (IV) Neutral

Choose the correct answer from the options given below:

(1) (AL, (B)-AV), (C)-1D), (D)-@)
(2) (AL, (B)-AV), (C)-(D), (D)-(II)
(3)  (A)-AV), (B)-(I1D), (C)-(I), (D)-(1T)
(4)  (A)-(IV), (B)-(D, (O)-(I), (D)-(11I)

Options :

92090656581. 1
92090656582. 2
92090656583. 3
92090656584. 4

Question Number : 46 Question Id : 92090614322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A | & T g 1 T e S
-1 (ferrs) Tt -1l (e

(A) CN () didie<e
) CO (I <<
(C) EDTA* (i THEg<e
Dy €00 (V) ged

id & e fasedi | € 98! I &1 984 P

(1 (A=), (B)-(1v), (Q-(), (D)-()
(2 (A)-(), (B)-(IV), (O)-(). (D)-(IN)
(3)  (A)-(V), (B)-(I), (©)-(1). (D)-(IN)
(4)  (A)-(V), (B)-(I), (C)-(1), (D)-(11D)

Options :



92090656581. 1
92090656582. 2
92090656583. 3
92090656584. 4

Question Number : 47 Question Id : 92090614323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements;

OH O o

[ I
CH-C-NH, T
Statement 1 : @r on reaction with Brz | KOH gives @’ s

Statement 11 :  Hoffmann bromamide reaction is used for converting primary
amides to amines.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement 11 are false

(3 Statement [ is true but Statement 11 is false
{4) Statement I is false but Statement 11 is true
Options :

92090656585. 1
92090656586. 2
92090656587. 3
92090656588. 4

Question Number : 47 Question Id : 92090614323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRy iume:

OH 0 0]

FUA| @ju_“w}rﬂﬁrzfKnHﬁ&rﬁrﬁﬁmm%aa - S gl
FUA |l - gwmwmmmﬂ%ﬂﬁmﬂuﬁaﬁﬁmﬁm%
|

IWiad HYA & Aald H i U U fddhed! § 9 9g! Ioiad 994 $ifelu

(1) HYF ARSI g e

) HYIARIGH AT E

3) YT I Td g, b HYUA Il AT
(4) DY AT, AP DY TIE

Options :

92090656585. 1
92090656586. 2
92090656587. 3
92090656588. 4

Question Number : 48 Question Id : 92090614324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Cl- is the conjugate base of HCL

Reasons (R): Conjugate acid and base both have same number of protons.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 18 correct but (R) 1is not correct

(1) (A) 18 not correct but (R) is correct

Options :

92090656589. 1
92090656590. 2
92090656591. 3
92090656592. 4



Question Number : 48 Question Id : 92090614324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 & Ty 4T MU §: TP ATUHYA (Assertion A) & ©9 T ff@d g dl g0 39F IRU
(Reason R}aﬁ_ﬂﬂ;

FYT A : €I, HCl &1 Sl &R g |
PRUR: TGt 3 9 &R &1 § 9HH WieH gid o
IR By & JHcilsd H, Hiid 4T 71U [doedl H ¥ 999 Iugdd ga% &1 98- Siflg

(1)  ASRREHI 6l ¢ 3R R, A DI Tgl ARAT §

2) AR REH UG § Al R, A DI TSI TS el ©
3) ATSE APTIRTE TR

4) AFETEIE, APTIREEN T

Options :

92090656589. 1
92090656590. 2
92090656591. 3
92090656592. 4

Question Number : 49 Question Id : 92090614325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : In isobaric reaction, the pressure throughout the reaction is
constant.
Statement I :  In adiabatic condition there is no exchange of heat and system 1s

completely isolated.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement I is true

Options :
92090656593. 1
92090656594. 2



92090656595. 3
92090656596. 4

Question Number : 49 Question Id : 92090614325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A &l Sy AU T &
HYA | - FHGIE sififsan 1, sifiifthar gRI aTd fRR W gl

U 1 - FRRwT (eEfRuaf®) sEe § Sun &1 AISH-UeH T8 8 & aur e gfa:
ICRURGHIN!

JRIGd HYF & D H, A [GU U [dFhedl § 9 Tol 3uidl 99 BIvg

1) Y I ARG T

2 HYFTIARIEHA AT

(3) HYTITA T, AP HY I JTTE
(4) HYTIHTIE, MPAPYT I TG

Options :

92090656593. 1
92090656594. 2
92090656595. 3
92090656596. 4

Question Number : 50 Question Id : 92090614326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[dentify the homoleptic complexes from the following
(A) [Cr(en)z]Cls

(B) Kj[Fe(CN);NO]

(C) Fe(CsHs):

(D) Li[AlH4]

(E) Nas[ZnCl,]

Choose the correct answer from the options given below :

(1) (A), (B).& (D) only

(2)  (A), (B), & (E), only

(3)  (B), & (C), only

(4) (A, (C), (D), & (E), only

Options :

92090656597. 1
92090656598. 2
92090656599. 3
92090656600. 4

Question Number : 50 Question Id : 92090614326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



{5 7 9 grciP® dgpell Bt ugdl B -
(A)  [Cr(ema]Ch

(B) Ka [Fe(CN)sNO]

(Q) Fe(CsHs)2

(D) Li[AlH4]

(E)  Naa[ZnCli]

12 fau U fasedl # 9 TEl SR &1 994 $ifore :

(1) @dd A B3R D
(2) dd A B3IRE
(3) dd BARC

(4) Had A C, DIRE

Options :

92090656597. 1
92090656598. 2
92090656599. 3
92090656600. 4

Question Number : 51 Question Id : 92090614327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List I1
(A) H* (I) Soft acid
By Cu* (II) Soft base
(C)y N:=Ha (III) Hard acid.
m I (IV) Hard base

Choose the correct answer from the options given below :

(1) (A)-, (B)-(LI), (C)-(AV), (D)-(IL)
)  (A)-a1, (B)-(D), (C)-(IV), (D)-(D)
(3)  (A)-(1D), (B)-(I), (C)-(1I), (D)-(IV)
(4)  (A)-), (B)-(I1), (C)-(II), (D)-(IV)

Options :



92090656601. 1
92090656602. 2
92090656603. 3
92090656604. 4

Question Number : 51 Question Id : 92090614327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
! | & |y =1 1 e Sy

- i
(A) H° (h Hgd 3
(B) Cu’ (I Hod &R
(C)  NaHq () HOIR 3T
(D) |- (V) DR &R

= fBu o fawedf & | 9 SR @1 I S

(1 (A)-(1), (B)-(lIT), (C)-(IV), (D)-(IN)

(2)  (A)-(l1), (B)-(1), (C)-(1V), (D)-(1)

(3)  (A)-(l), (B)-(1), (©)-(l1), (D)-(IV)

(@) (A)-(1), (B)-(l1), (C)-(l), (D)-(IV)
Options :

92090656601. 1
92090656602. 2
92090656603. 3
92090656604. 4

Question Number : 52 Question Id : 92090614328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement I :  HCIO4 and HNO3: are among the strongest acids known.
Statement 11 : The strength of Oxyacid is dependent upon inherent electrone

gativity of central atom.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement 11 are falze

(3) Statement I is true but Statement 11 is false
(1) Statement I is false but Statement 1T 1= true
Options :

92090656605. 1
92090656606. 2
92090656607. 3
92090656608. 4

Question Number : 52 Question Id : 92090614328 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyERuMUE:
FUT| - HCIO, TUT HNO; BT TFH Uad 37 1 S J1adl g 1

B |1 - SifaES P Taed BeE WA A Rfgd IgdEonerear ) AR i 2
QIR HY & 3dld 1, 14 fdu mu fas el O 9 9gl It 994 Sifolw

(1)  HYF RN I8
2 BYTI SR ITH Ed
(3) PYTITI g, Afbd HYUT I 3T ©
(4)  HYFI MUY g, A YA 11 T
Options :
92090656605 1
92090656606. 2

92090656607. 3
92090656608. 4

Question Number : 53 Question Id : 92090614329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement [ : NO® 1on i1s stabilized and exists in several compounds like
NO"BF,

Statement I  : Nitrosyl ion formation results from removing an antibonding
electron.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement I is false
(4) Statement 1 is false but Statement I is true

Options :

92090656609. 1

92090656610. 2

92090656611. 3
92090656612. 4

Question Number : 53 Question Id : 92090614329 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIEA SR T I
HUA | : NO* 319+ RRR Td NO*BF, O s diffiepl | fderm wgdl 8|

YA || - IR A F- T UiddeH geide= gy gl ordl g |
JURIe] HYA & AP H, Hid (U T¢ fdbed 1 U Tat IRDl 99 By

1) T IR IS TIR

2) Y AR NS T §

@) HYITdE ABTIHYT I AT E
(4)  HYU | A G, b FUT I A ©

Options :

92090656609. 1
92090656610. 2
92090656611. 3
92090656612. 4



Question Number : 54 Question Id : 92090614330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Graphite, an allotrope of carbon acts as an lubricant.

Reasons (R):  Graphite layers are held together by weak van der Waals forces

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

92090656613. 1
92090656614. 2
92090656615. 3
92090656616. 4

Question Number : 54 Question Id : 92090614330 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

419 § FYA 30 MU § TP UFYT (Assertion A) & FT  H ffad 8 1 TR IUF HRUI
(Reason R) b &4 W

MUY A - UBIET, Ba- &1 UH MUTEY g ol Wed Bl aie B/ Hdl el
PHRUIR: g dreYdrd ddi g1 AHISE di WRd AY-T1Y Edi g |
JUIE HYH & 3fdle H, - 30 U fadhedl # 9 a4 Iugad IR &1 994 Do

(1)  ASRRIHA FEI g 3R R, A DI Hel ARHAT &

(20  ASRRIAIYE T B R A DI U AR 7l @
(3) AWEIE AfPTRUGI T ©

(4) ARl AfbTR TGS

Options :
92090656613. 1



92090656614. 2
92090656615. 3
92090656616. 4

Question Number : 55 Question Id : 92090614331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following compounds with increasing number of 2° carbon atoms

Wy T T e e
& )W

B b St

D) M

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C), (E)
(2)  (B). (©). (D), (E), (A)
(3) (D). (B), (E), (A), (C)
(4)  (E), D), (C), (B), (A)

Options :

92090656617. 1
92090656618. 2
92090656619. 3
92090656620. 4

Question Number : 55 Question Id : 92090614331 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ TiffTenT 1 2° HTe- WAV & d6d HH J oIaieyd &l

B 7 R e
. /\\(

G S,

) M

= /‘X\

i f6u T faedi © 9 Hel IR &1 994 S :

(1) (A, (B), (D), (C), (E)
(2)  (B), (C), (D). (E), (A)
(3) (D) (B), (E), (A), (O
(4)  (E), (D), (C), (B), (A)

Options :

92090656617. 1
92090656618. 2
92090656619. 3
92090656620. 4

Question Number : 56 Question Id : 92090614332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify polar aprotic solvents from following

(A) DMSO

(B) CHs;CH=0H

() 18-Crown-6-ether
(D) Hexane

(E)  Acetic acid

Choose the correct answer from the options given below :
(1)  (B) & (E) Only
(2)  (0), (D) & (E) Only
(3) (A & (C) Only
(4)  (B), (C) & (D) Only
Options :



92090656621. 1
92090656622 2
92090656623. 3
92090656624. 4

Question Number : 56 Question Id : 92090614332 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 ¥ 4 ydia uuifes fadias! o1 ugarq $11
A, DMSO
B. (CH:CH:=0H
C.  18-hl3-6-ga
D. ®FHA
E  UHifes spa
i 16U 7Y fased] & § 9l IR &1 TG Bifo ;
(1) $dd B IRE
) Pad C,DIRE
(3) Fad ASRC
(4) ad B, C 3RA
Options :
92090656621. 1
92090656622 2

92090656623. 3
92090656624. 4

Question Number : 57 Question Id : 92090614333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List 11
Reagent used Reaction
(A) Zn(Hg), HCI (I) Aldol reaction
(B) CHCIl;, KOH (IT) Reimer-Tiemann reaction
(C) NaOH + excess I2 (III) Wolff — Kishner reduction
(D) Dilute NaOH (IV) Haloform reaction

Choose the correct answer from the options given below :

(1)  (A)-(IV), B)-I1I), (C)-dD), D)-(D
(2) (A, (B)-1D), (C)-(IV), (D)-(D)
(3) (AL, (B)-(II), (C)-(I), (D)-(AV)
(4)  (A)-(D, (B)-I), (C)-(IL), (D)-(AV)

Options :

92090656625. 1
92090656626. 2
92090656627. 3
92090656628. 4

Question Number : 57 Question Id : 92090614333 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I | & Ty g 1| T e Sy
-1 (g sifidti®) Tt -1 (3

(A) Zn(Hg), HCl () TSI i

(B) CHCls, KOH () IR A fHfean
(C) NaOH + 3ffai¥ed I (1) drew foI=R =g+
(D) T NaOH (IV) SABRA iR

+id fgu U fa@ eyl O 9 Tl Io &l 99 Hifeg:

(1 (A)-(V), (B)-(l1), (C)-(11), (D)-(1)
(@) (A=), B)-(I), (O)-(IV), (D)-(I)
(3)  (A)-(m), (B)-(1), (C)-(1), (D)-(IV)
@) (A)-(1), (B)-(1N, (©O)-(m), (D)-(IV)

Options :



92090656625. 1
92090656626. 2
92090656627. 3
92090656628. 4

Question Number : 58 Question Id : 92090614334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are 1 M aqueous solutions each. Arrange them in increasing order of
boiling points.

(A) Glucose

(B) Sodium chloride

(C) Calcium nitrate

(D) Potassium ferricyanide

Choose the correct answer from the options given below :

(1) (D), (C), (B), (&)
2 A, B, ), D)
(3) (B, (C), (A), (D)
(4)  (C), (D), (B), (A)

Options :

92090656629. 1
92090656630. 2
92090656631. 3
92090656632. 4

Question Number : 58 Question Id : 92090614334 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥ 1M F Selig e 28 U € 3= FauAie & 9ed BH | ouafyd &Y
A, DS

B. HIfSuH FNIZS
C. HalgyAEgee

D. ureferm BiRFEs
419 AU 0 fasseul ¥ ¥ Ul IR &1 I9 Sifor ;

(1) (D) (Q), (B). (A)
(2) (A (B) (C) (D)
(3)  (B) (Q) (A), (D)
(4)  (C). (D). (B), (A)

Options :

92090656629. 1
92090656630. 2
92090656631. 3
92090656632. 4

Question Number : 59 Question Id : 92090614335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement 1 :  Frenkel defect 12 also known as dislocation detect which does not
change the density of the solid

Statement 11 :  Schottky defect is a Vacancy defect which maintains electrical
neutrality

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3 Statement I is true but Statement 11 is false
(4) Statement I is false but Statement 11 iz true
Options :
92090656633. 1

92090656634. 2
92090656635. 3



92090656636. 4

Question Number : 59 Question Id : 92090614335 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gy fleu T @

FYA | ; Thbd a9 & [GRITH &Y & w4 § 1 SH I1a1 & 98 319 & ¥-d &) o aGadl ¢
HY || : TRP! Y Yeb Reiall G19 g T8 dgad Jarii-al SIPIR &1 8|

IWRIE &Y & el d, Hid 14U 7 fasedl d 9 gl I 9+ Sifig

(1) ®F AR NGH IA T

() Y AR NTH T E

3) YT | T g, Al HYUF 1| ST &
(4) T NTAG, APT PN T T

Options :

92090656633. 1
92090656634. 2
92090656635. 3
92090656636. 4

Question Number : 60 Question Id : 92090614336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements about inner transition elements

{(A) These are known as d-block elements

(B) Lanthanoids and actinoids are two series included in inner transition elements
()  There are fourteen elements in each of Lanthanoid and actinoid series

(D}  In the series with increase in atomic number the atomic radii increase

(E) Lanthanoids are silvery white soft metals

Choose the correct answer from the options given below :

(1)  (A), (B) & (D) Only
(2) (B), (C) & (E) Only
(3) (C), (D) & (E) Only
(4)  (A), (C) & (E) Only
Options :
92090656637. 1
92090656638. 2



92090656639. 3
92090656640. 4

Question Number : 60 Question Id : 92090614336 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHTeRfF HH YT el & aR § U6l dYHl &1 dgar |

(A) I d-sP d@l & =9 F o oid g

(B) TUAIZSY U4 Ua g &I HidiNa ShHvI ddl | af Aol & 3@ T g
(C) UdD adAIgs Ud facigs 4uit # digg da @ T g

(D) 31 S0 F URAIY] HHIES e & §d TRATY] B gedi g

(F) TUISSd dic! Hexd Uthe HoTad UTgu 5

1 feu e fawen! & @ 9Et I &1 9w S ;

(1) (A), (B) 3R (D)
(2) ,{CNM
(3) ), (D) 3 (E)
(4) ), (C) 3R (E)
Options :

92090656637. 1
92090656638. 2
92090656639. 3
92090656640. 4

Question Number : 61 Question Id : 92090614337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The nearest neighbour distance in a face centred cubic (FCC) structure in term of
lattice constant ‘a’ is

13 @2 2a
@  a/2 (1) ga
Options :

92090656641. 1
92090656642. 2



92090656643. 3
92090656644. 4

Question Number : 61 Question Id : 92090614337 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Weld dind Y- I¥E-1 § Sids Fadie ' & ug § Faead ufaash g gidl 81

i = 2) 2a
3 a/2 @) ?a
Options :

92090656641. 1
92090656642. 2
92090656643. 3
92090656644. 4

Question Number : 62 Question Id : 92090614338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: : ; aqQ ) .
If & 1s volume expansion coefficient at constant pressure, then the value of [T] 18:

oF
al’ ol
-l O N
= T[EFL o T[ oP ]

18V
() Vi (4) b_’[ s L

Options :

92090656645. 1
92090656646. 2
92090656647. 3
92090656648. 4

Question Number : 62 Question Id : 92090614338 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2P
o %) o o2)
@) -TVa 4) %[%L
Options :

92090656645. 1
92090656646. 2
92090656647. 3
92090656648. 4

Question Number : 63 Question Id : 92090614339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bragg's law (of X-ray diffraction) is used for the determination of :

(1) Surface Area of materials
(2) Crystal structure
(3) Hecombination rate of charge carries

(4) Elemental composition of a material

Options :

92090656649. 1
92090656650. 2
92090656651. 3
92090656652. 4

Question Number : 63 Question Id : 92090614339 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s Frgw (x-faeor e &) feaes Fufvor 3 i g 82

(1) el & gy damd () fopved dxa

(3) MY HdIaedh! Bl gater &3 4) uard & difds ddeH

Options :
92090656649. 1
92090656650. 2



92090656651. 3
92090656652. 4

Question Number : 64 Question Id : 92090614340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let nand n, be the concentration of electrons and respective holes in a
Semiconductor. Which of the following statement is true for extrinsic semiconductors?

(1) a, >n, 2) n=n,
(3 n #n, (4) n,<n,
Options :

92090656653. 1
92090656654. 2
92090656655. 3
92090656656. 4

Question Number : 64 Question Id : 92090614340 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qFe 5l 0P sRaas | BH: n, U4 o, FadCA @ oid & 9iav ¢l 9150 sEarad! &
foru =T Hy I B

(1) n,>n, (2) n.=n,
(3) n,=n, 4) n <n,
Options :

92090656653. 1
92090656654. 2
92090656655. 3
92090656656. 4

Question Number : 65 Question Id : 92090614341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Miller indices of a plane whose intercepts are a. —%b and 3c on X, Y and Z

i

Crystallographic axes respectively are

1y (2386 (2 (238)
(3 (64 2) (4) (64 2)
Options :

92090656657. 1
92090656658. 2
92090656659. 3
92090656660. 4

Question Number : 65 Question Id : 92090614341 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U dd & X, Y Ud 7 peedl b 3feil IR ufide HHr: u,—%b U6 3c ¥ I I P AR
gdbid g7
(1) (2386) 2 (236)

(3) (6 4 2) 4) (64 2)

Options :

92090656657. 1
92090656658. 2
92090656659. 3
92090656660. 4

Question Number : 66 Question Id : 92090614342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A machine gun has a mass of 20 kg. It fires bullets each of mass 35 g at the rate of

400 bullets per minute moving with a speed of 400 m/s. The force that should be
applied to the gun to keep it in position is :

(1) 352N (2) 700N
(3) 823N (4) 933N
Options :

92090656661. 1
92090656662. 2



92090656663. 3
92090656664. 4

Question Number : 66 Question Id : 92090614342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 20 fHaum &t 7 9 35 AW ST 400 et Ufd fAfAe @t g2 ¥ el adt § &
400 HiAfHrs &t Tra A vfdwE 81 FTE R fhan g @A a@ifge S a8 srae
a1 ¥ fRua w82

(1) 35.2 e (2) 70.0-gcH
(3) 82.3 Yc4 (4) 93.3-gcH
Options :

92090656661. 1
92090656662. 2
92090656663. 3
92090656664. 4

Question Number : 67 Question Id : 92090614343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the de-Broglie Wavelength of neutron moving with the kinetic of 1.0 eV

(1) 0.14 A (2) 0.29A
(3) 039A (4) 1.29A
Options :

92090656665. 1
92090656666. 2
92090656667. 3
92090656668. 4

Question Number : 67 Question Id : 92090614343 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.0 ST dIee (eV) DI TS FHoll & TAAM LT Bt SI-anTelt ToTged & T S|

(1) 014 A (2) 029A
(3) 039 A 4 129A

Options :



92090656665. 1
92090656666. 2
92090656667. 3
92090656668. 4

Question Number : 68 Question Id : 92090614344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The electrons in a Quantum dot have

(1) Three degrees of Freedom
(2) Zero degree of Freedom
(3) Two degrees of freedom and one degree of confinement

{4) One degree of freedom and two degree of confinement

Options :

92090656669. 1
92090656670. 2
92090656671. 3
92090656672. 4

Question Number : 68 Question Id : 92090614344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US Hicd SR H gataer o eidl g

(1)  diF fetht &t Tadaar

2 s @ |dEa

(3) < f$ill ol T 9 e & &1 Ay
(4) U 3 B WaFar 9 3 f3d B qy

Options :

92090656669. 1
92090656670. 2
92090656671. 3
92090656672. 4

Question Number : 69 Question Id : 92090614345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The stress corresponding to fracture point (with reference to relationship between
stress and strain) is called :

(1) Saturated Stress {2) Breaking Stress
(3) Elongated Stress (4) Compressed Stress
Options :

92090656673. 1
92090656674. 2
92090656675. 3
92090656676. 4

Question Number : 69 Question Id : 92090614345 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

favierH fag & gl ufded &1 3 3 e & dau 7) ufdea sgar gl

(1)  Hqw ufdad (2 fysuftea
3) < ufdeEa (@) Hdifed ufaed
Options :

92090656673. 1
92090656674. 2
92090656675. 3
92090656676. 4

Question Number : 70 Question Id : 92090614346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Meissner's effect refers to :

(1) Zero Conductivity (2) Perfect Dimagnetism
(3) Infinite Specific heat (4) No Defects
Options :

92090656677. 1
92090656678. 2
92090656679. 3
92090656680. 4

Question Number : 70 Question Id : 92090614346 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

AW UYd & ded 2 -

(1) < areddl 2 uf ufigEsa
(3) 3 fafay Sw (4) TuARd
Options :

92090656677. 1
92090656678. 2
92090656679. 3
92090656680. 4

Question Number : 71 Question Id : 92090614347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct descending order of de-Broglie Wavelengths associated with the following
particles moving with same velocities

(A)  Electron

(B) Proton

(C) Hydrogen Atom

(D) Helium Atom

(E) Carbon Atom

Choose the correct answer from the options given below :

(1) (A, (B), (C), (D), (E)
(2 (E). D). ). B). A)
(3)  (A), (B), (C), (E), (D)
(4) (D), (E), (A4), (B), ()

Options :

92090656681. 1
92090656682. 2
92090656683. 3
92090656684. 4

Question Number : 71 Question Id : 92090614347 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[ 31 | fanM g sl | gwfta S s atrest &1 9et gedl g3 HH gl

(B) WreH

(C) TIEGIoH TRAIY
(D) IfeRIH AT
(E) PTe UTHIY]

12 fau U fasedl # 9 TEl SR &1 994 $ifore :

(1) (A) (B), (C), (D). (B)
(2)  (E). (D). (Q), (B), (A)
(3) (A, (B). (C). (E). (D)
(4) (D). (E), (A) (B), (C)

Options :

92090656681. 1
92090656682. 2
92090656683. 3
92090656684. 4

Question Number : 72 Question Id : 92090614348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Direct band gap semiconductors are used in the fabrication of light
emitting diodes.

Reasons (R):  In direct band gap semiconductors, the transition of electron from the
bottom of conduction band to the top of valence band occurs without
releasing its energy to the crystal lattice, resulting in the emission of
photon

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (4)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(1) (A) 18 not correct but (R) is correct



Options :

92090656685. 1
92090656686. 2
92090656687. 3
92090656688. 4

Question Number : 72 Question Id : 92090614348 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 &1 By BU U §: U@ SfU@ A (Assertion A) & w0 ¥ foREd g df Uy 99@ HRU
(Reason R}aﬂ_l‘g[i °;

HUPYT A .  SEIAE 68 19 AHGAaD| I USRI Idvid SAIS &1 # UIHT 691 911 g

PHRUR: ZISEae 48 11U s aias! B, hed was! ®f a1 Sl 3cieid & Jdigd
def & afeRdd o "ol 9y F T I IR gAagi- (490l $ Haaey BRIA
1 I ol ¢

TJWRIGd FYT & Haild H, i ST 70 fadhedi § 9 999 IUgdd Jo S 99 Difeig
(1) AJRREH Tl g AR R AT TG AT
2) ASRREHI ¥el g, Afd R, A DI el RS el &

3) AGEE ABFIRTEI TS G
4) AYSIEIG, AlPIREE

Options :

92090656685. 1
92090656686. 2
92090656687. 3
92090656688. 4

Question Number : 73 Question Id : 92090614349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Fluorescence 1s radiative decay between states of same
multiplicity. It persists even after the exciting radiation is
removed

Statement I1 :  Phosphorescence is radiative decay between states of different

multiplicity; it ceases as soon as the exciting source 1s removed.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement 1 is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement II is correct

Options :

92090656689. 1
92090656690. 2
92090656691. 3
92090656692. 4

Question Number : 73 Question Id : 92090614349 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B R T AT |

FY | - i THE agad & W) & did fafe &g B 98 Ionie A d gen &
91g T 9 9 8T 8

BT || ; WpIeI (e A SgaidT & Wi & dd fafehor & & 78 I@eiaEld & geH TR gid
sl g1 oI 8

JIWad HYH & AMdld |, Al U U f[deed! H 9 9gt il 994 Sifull

(1) SRS gd T
) YR NEH I ©
(3) Y FA 7, AT HYF 1| 3T ©
(4) YT NEAE, ABTHUT I T ©
Options :
92090656689. 1

92090656690. 2
92090656691. 3



92090656692. 4

Question Number : 74 Question Id : 92090614350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : The I-V characteristics of a solar cell lie in third quadrant of the I-V
coordinate plane.

Reasons (R) ; Solar cell does not draw current from the circuit, it actually provides
current to the circuit.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is not false

(4) (A) 15 false but (R) is true

Options :

92090656693. 1
92090656694. 2
92090656695. 3
92090656696. 4

Question Number : 74 Question Id : 92090614350 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 1 By 13U U § TP SHUFYT (Assertion A) & ®Y  H fifad 8 o THI ITS HRUI
(Reason R}a'TF‘-T ff;

HBUA A : TP HieR Ud BT 1-v AT ceis, 1-v Fdis ad & gdig reie @ gar g

HRUIR: HaR 9d uRgy § fAyqurt 81 diar €, 98 aad 3 uiuy @1 fayd ur
JUds Hl g

IR HYF & 3feiier H, A 34U 7 faded! & ¥ a8 Iugad IR &1 994 Sifoig

(1) AMRRIATEE SRR A DI Hel AR &

2) ASRRIAIHE T AfbAR A D TS AN AL
(3) ATEIE Al R UG S &

(4) AGEITEIE, AP R UL

Options :

92090656693. 1
92090656694. 2
92090656695. 3
92090656696. 4

Question Number : 75 Question Id : 92090614351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  When size of a metal nanoparticle is changed, its colour changes.

Statement I :  In metal nanoparticles, the oscillations of electron gas take place
on the surface. The quantum of these oscillations are called
surface plasmons. Surface plasmons absorb light according to the
size of the particles.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :
92090656697. 1
92090656698. 2



92090656699. 3
92090656700. 4

Question Number : 75 Question Id : 92090614351 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RAPyRUTUE:
HUF | - FF U Ul S AAIedd Hgel deardl 6, 39d] T ded oldl |

HUF 11 - U AIeEl §, Fede araql 9 19 g W 1 W 81 39 Sl &1 Squi
WhY WA FHedidl g HUI & HEd & HTUR WNHY WHY TSl &
I FId 3|

IR HYA & 3Mdid 1, A" feu 7o fasdi A 4 9gl I 994 Sifeu

(1) HYTIRNSAI g g

2) HYFISRISH AEA 8

(3) DY FA g, Wlh HYA |l 3T &
(4) DY A g, Albd HUA || T &

Options :

92090656697. 1
92090656698. 2
92090656699. 3
92090656700. 4

Question Number : 76 Question Id : 92090614352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT ¢

Liat 1 List 11
(Semiconducting structure) Density of states (DOS)
(A) Quantum Dots r

:‘.'_E
o = k
Energy
(B) Nanowires
a 2 i
Encrgy
(C) Quantum wells
() = ‘
Energy
(D) Bulk materials
& e
(IV) 2
Fnergy

Choose the correct answer from the options given below:

(1) A1), B)-(D), (O)-(ID), (D)-(IV)
(2)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(IT)
(3)  (A)-(ID), (B)-(D, (C)-(IV), (D)-(IT)
(1) (A)-D), (B)-(ID, (C)-(I1L), (D)(IV)

Options :

92090656701. 1
92090656702. 2
92090656703. 3
92090656704. 4

Question Number : 76 Question Id : 92090614352 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | 6 |1y gl || 671 e Hiferg

- Tl -l
AT HIaIl HARITH] P U+ (DOS)
(A) TICHSRA (1) E_’
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St
() FAIdRI (1 E
%
Fall
(C) icH I () E
%%
Sl
(D) Tep Hel gy (V) E YR
%
Tl
4 fRu U faredi § © | IR &1 994 BT

(1 (A=, (B)-(1, (C)-(I), (D)-(IV)
(2) (A=), (B)-(V), (O)-(1), (D)-(1)
(3} (A)-(), (B)-(1), (O-(IV), (D)-(IN
(4 (A1), (B)-(11), (O)-(), (D)-(IV)

Options :

92090656701. 1
92090656702. 2
92090656703. 3
92090656704. 4

Question Number : 77 Question Id : 92090614353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following planes of simple cubie unit cell according to increasing order of
their lattice spacing:
(A) (211)plane
(B) (001)plane
(C) (110)plane
(D) (111)plane
(E) (201)plane

Choose the correct answer from the options given below :

(1) (A, (C), (B), (D), (E)
(2) (A, (B), (D), (E), (C)
(3)  (B), (C), (D), (E), (A)
(4)  (E), (A), (B), (C). (D)

Options :

92090656705. 1
92090656706. 2
92090656707. 3
92090656708. 4

Question Number : 77 Question Id : 92090614353 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4 aa 3 IR - 3FTE A & HTIR 39 el aIed gl & HHER Saredd Bl

(A) (211)dd
By (001)dce
(O (110)dd
@ (111)dd
(E) (201)da

Hid féu U famedi 3 T gl I &1 9g- Hif :

1 (A), (C). (B), (D), (E)

(1)

2)  (A), (C) (D) (E), (C)
)
)

(3 (B), (C). (D), (E), (A)
(4) (B (A), (B), (O), (D)
Options :

92090656705. 1
92090656706. 2



92090656707. 3
92090656708. 4

Question Number : 78 Question Id : 92090614354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are not correct in the case of an acceptable wave
function () applicable to the real world?

(A) W must always be a real function.

(B) _ﬂ y |2f.|f'.”' =1
(C) W must be continuous and single valued everywhere.

dr dir

(D) : : must be continuous and single valued everywhere.
dx oy oz
Fy dir O .

(E) i : _\W _.E must always be positive.
dx dy oz

Choose the correct answer from the options given below :

(1)  (B) & (C) only
(2)  (A) & (D) only
(3) (B) & (E)only
(4)  (A) & (E) only

Options :

92090656709. 1
92090656710. 2
92090656711. 3
92090656712 4

Question Number : 78 Question Id : 92090614354 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafed # 9 S/ FUF, U6 Dol a0 o ol dRaidd SiFTd W SHEAWENS 8 &
e 7 wel AT 81
A. UM US gyrd, araids wad g el

B. I|w|2dV:l

—o0

C. HIcH g1 FfeT Tyl 82 S8 Udh HIH i1 Afgu|

D. ¥ % % gaqqu i oE UHHH S AR
or oy Oz

£ 2V OV OV =hey e rA® @ TIRYl
ox Oy 0Oz

e faw 7Te faeedl # 9 Wl IR &1 99 Hifoly -

(1) &ad B3RC

(2) ®dd A3RD

(3) ad B3RE

(4) Had ASIRE

Options :

92090656709. 1
92090656710. 2
92090656711. 3
92090656712. 4

Question Number : 79 Question Id : 92090614355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements is not correct in the case of paramagnetic
materials?

(A) In an external magnetic field, these materials get weakly magnetized in the
same direction of applied field.

(B) Magnetic susceptibility of these materials is always negative.
(C)  Relative permeabhility of these materials is always greater than 1.
(D) They show no spontaneous magnetisation.

(E) It occurs generally for atoms or ions having partially filled electronic shells or
odd number of electrons.

Choose the most appropriate answer from the options given below :

(1) (A only
(2)  (C) only
(3)  (B)only
(4)  (E) & (D) only

Options :

92090656713. 1
92090656714. 2
92090656715. 3
92090656716. 4

Question Number : 79 Question Id : 92090614355 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Froafafad syl 1§ 9 srde® gard & e # S8 FyF 99 78 8

A

U a1el e &3 § 3 yard sruaifid & & w9 fGun § #HWR ¥4 ¥ gafdd
gl gl

2 yardf &1 g9 gH= BUHS aidl g |

g uerdf & Wraféd umdr 9 1 9 31 gt g

d ad 9edd &1 Ue A el Fd g

gg HTHg YA 41 1G] & Sif¥e 4 8 4R g0 9 91 Saded &I fauy @ & fou
gfed grar gl

it fau e fasedi @ 9 98 IR &1 99 Hifoie ;

(1)
(2)
(3)
(4)

Fad A
Fad C
$ad B
Fdd E SR D

Options :

92090656713. 1
92090656714. 2
92090656715. 3
92090656716. 4

Question Number : 80 Question Id : 92090614356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List IT ¢

Liat 1 List 11
(A) Continuity equation O VIV =- %
3 fa Ca B 'y = ) . -n.l
(B) Poisson’s equation ) v.3=- -:;_p
ot
(C) Laplace equation (III) V'V =0
(D) Gauss Law ) ; —E’ _ P
€0

Choose the correct answer from the options given below:

(1) (A)-D, (B)-(ID, (C)-(I1L), (D)(IV)
(2)  (A)-1D), B)-D), (C)-(ID), (D)-(IV)
(3)  (A)-ID, (B)-(ID), (C)-AV), (D)-(I)
(4)  (A)-(IV), (B)-(1I), (C)-(1D), (D)-(D)

Options :

92090656717. 1
92090656718. 2
92090656719. 3
92090656720. 4

Question Number : 80 Question Id : 92090614356 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gt | < Gy G 1| 1 i Sifere

- gt -1
(A)  Hdddl GHIHI] S
)] vV = AP
() UIAHT WHIGHRU v
EY
(€) Ty HIEI ay viV=0
€ (1) %}Ezi
=0
Hid f¢U 70 fdsedi § ¥ el I &1 99 i
(1) (A)-(1), (B)-(11), (C)-(l1), (D)-(IV)
(2) (A)-(11), (B)-(1), (C)-(11), (D)-(IV)
(3 (A)-(1n), (B)-(IN), (C)-(IV), (D)-(1)
(4) (A)-(IV), (B)-(11), (C)-(11), (D)-(N)
Options :

92090656717. 1
92090656718. 2
92090656719. 3
92090656720. 4

Question Number : 81 Question Id : 92090614357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The element which is not present 1in an expression vector:

(1)
(2)
(3)
(4)

Selection marker to select host eells, which contain the vector
Two different origin of replication
Promoter sequence upstream of the cloned gene

Unique restriction enzyme sites for insertional cleaning

Options :

92090656721. 1
92090656722. 2
92090656723. 3
92090656724. 4



Question Number : 81 Question Id : 92090614357 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d 31974 Sl U (URIYH Jaer) Ui Hares & JufRG TSI g & -

(1) U SIfRre1el & = & o gaeedd A, o Hargd @dey) Afga gl
2 < fim ~3iifeE sifw e mfaefa $t 3T

(3) oM BT SiF & B UHIe YT, FUL G2 H SR

4) T EEaReEe) Fn & fon Ry RRewm) uiidwE toga

Options :

92090656721. 1
92090656722. 2
92090656723. 3
92090656724. 4

Question Number : 82 Question Id : 92090614358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The amino acid which does not possess any aromatic side chain is:

(1) Phenylalanine {2) Tyrosine
(3) Tryptophan (4) Threonine
Options :

92090656725. 1
92090656726. 2
92090656727. 3
92090656728. 4

Question Number : 82 Question Id : 92090614358 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ag ofHT o fored @i Toafes uisf (@1gs) Jaen el el ¢ -

(1) e waHE (2) eI
(3) feuetsa 4 fEEE
Options :

92090656725. 1



92090656726. 2
92090656727. 3
92090656728. 4

Question Number : 83 Question Id : 92090614359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Termites can easily digest cellulose due to a symbiotic microorganism, Trichonympha.
Trichonympha secrets enzymes

(1) Cellulase (2) Pectinase
(3) Cutinase (4) Chitinase
Options :

92090656729. 1
92090656730. 2
92090656731. 3
92090656732. 4

Question Number : 83 Question Id : 92090614359 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M\ S 9 U ggolldh Yerelian] craSiFmnT & 50 HllgH & SR S 9 dogard
CAREIINGIR]

1 Igad (2) ufdew

(3) TS (4) @RI

Options :

92090656729. 1
92090656730. 2
92090656731. 3
92090656732. 4

Question Number : 84 Question Id : 92090614360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The organelle which is known as, ‘Power-house of the cell’ is:

(1) Mitochondria (2) Nucleus
(3) Golgi-bodies (4) Lysosomes
Options :

92090656733. 1
92090656734. 2
92090656735. 3
92090656736. 4

Question Number : 84 Question Id : 92090614360 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 # @ S FIEn, SIfes YR 859" & AH § oF oIl ¢

(1) WECHISa (2) HED
(3)  (eot-aTEToN Teoll H1Y (4) WZHEMH
Options :

92090656733. 1
92090656734. 2
92090656735. 3
92090656736. 4

Question Number : 85 Question Id : 92090614361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Each turn of DNA structure has a pitch in nm of

(1) 1.4 2 24
(3) 3.4 (4) 4.4
Options :

92090656737. 1
92090656738. 2
92090656739. 3
92090656740. 4

Question Number : 85 Question Id : 92090614361 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(DNA) S1UA.L. EEH Ul HIS B 3feM[fd nm # 1 gl &

(1) 14 (2) 24
(3) 34 4) 44
Options :

92090656737. 1
92090656738. 2
92090656739. 3
92090656740. 4

Question Number : 86 Question Id : 92090614362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Barr body found in female cell forms due to

(1) Duplication of X chromosomes (2) Trisomy of X chromosome
(3 Deletion of X chromosome {(4) Inactivation of X chromosome
Options :

92090656741. 1
92090656742. 2
92090656743. 3
92090656744. 4

Question Number : 86 Question Id : 92090614362 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4R &Y Arel BT ¥ 39 SR urd ot €1

(1) X hHEEM &1 g (2) X SHIHIEM T YA
(3) X HHEEH I e (4) X PHEH &1 FEpgeI
Options :

92090656741. 1
92090656742. 2
92090656743. 3
92090656744. 4

Question Number : 87 Question Id : 92090614363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The body temperature and hunger is controlled by

(1) Cerbellum (2) Pons
(3) Hypothalamus (4) Thalamus
Options :

92090656745. 1
92090656746. 2
92090656747. 3
92090656748. 4

Question Number : 87 Question Id : 92090614363 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR &1 AU 9UT Y&, & gRI FREd 1 Sl 8 -

(1) AT ERidan) @) =
3)  AdE ERudeHE) @) Td® (UoHE)
Options :

92090656745. 1
92090656746. 2
92090656747. 3
92090656748. 4

Question Number : 88 Question Id : 92090614364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The plants having “naked seed” are known as

(1) Bryophytes (2) Gymnosperms
() Vascular plants (4) Angiosperms
Options :

92090656749. 1
92090656750. 2
92090656751. 3
92090656752. 4

Question Number : 88 Question Id : 92090614364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



urey foFH “79 die” 81d €, $edld o

(1) SR @) g
(3) HagA Uy 4) Ul
Options :

92090656749. 1
92090656750. 2
92090656751. 3
92090656752. 4

Question Number : 89 Question Id : 92090614365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Longest bone in human is

(1) Radius (2) Pelvic girdle
(3) Femur {4) Fibula
Options :

92090656753. 1
92090656754. 2
92090656755. 3
92090656756. 4

Question Number : 89 Question Id : 92090614365 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hd 1 Tad Fo1 Y g

(1) Yzgw 2) Ufcas TSa (307 Argem
(3) W (4) fopagem

Options :

92090656753. 1
92090656754. 2
92090656755. 3
92090656756. 4

Question Number : 90 Question Id : 92090614366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The female mammals other than humans, shows cyclic, changes in the uterus known
as

(1) Menstrual cycle (2) Endometriosis
(3) Menopause (4) Estrous cvcle
Options :

92090656757. 1
92090656758. 2
92090656759. 3
92090656760. 4

Question Number : 90 Question Id : 92090614366 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H1ET (FA U A4 61 Breee, T § 9 uiad uefifa &ed € of Feard g1

(1) WIS 96 ) TSR
(3) g 4) SEHHAH
Options :

92090656757. 1
92090656758. 2
92090656759. 3
92090656760. 4

Question Number : 91 Question Id : 92090614367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : In Gram staining, Gram positive bacteria turn purple while Gram
negative bacteria appears pink in color.

Reasons (R): Due to the presence of thick peptidoglyvcan laver, gram positive
bacteria are not able to retain erystal violet-lodine complex and thus appear purple in
color.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

{(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) is false but (R) is true

Options :

92090656761. 1
92090656762. 2
92090656763. 3
92090656764. 4

Question Number : 91 Question Id : 92090614367 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & YA 3T MU T UF AHHHYA (Assertion A) & F9  F ffEa g @ g0 39S IR
(Reason R}ai_?m:l ﬂ;

AHUBUT A - UIH A § T eHES S igl (9Ud) <THt g ol § o9 & um
FUNS Fae i1 et 31 &1 feraan g1

HRUIR : Hidt UfPSiagsd Uid & SRU, UH YAide daciigl fhed-amde-
&mgﬁﬁﬁmmﬁﬂwﬂﬂﬁamﬁ?aﬂmaﬁmwﬁ
feEa g1

JURIad Y & 3ais H, i 4T v fdeedl H 9 988 Iugdd Ik &1 98- Hifelg

(1) AR R T8I € SRR, A DI T AT 8
2) AR RTH UGl ¢ Al R A DI TE TS el &
@ ATEE AFTRES TR
4) ATEITEIE, Wl R WS B
Options :

92090656761. 1
92090656762. 2




92090656763. 3
92090656764. 4

Question Number : 92 Question Id : 92090614368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) :  In meiosis, recombination of genes takes place.

Reasons (R):  Crossing over takes place in pachyvtene stage of prophase I (Meiosis I)

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) 1s true but (R) is false
(1) (A) 1s false but (R) is true
Options :
92090656765. 1
92090656766. 2

92090656767. 3
92090656768. 4

Question Number : 92 Question Id : 92090614368 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 €1 HY 3T U §: UF U@ (Assertion A) & ®U ¥ fafgd § df guw 39 HRU
(Reason R}aT'Fq H:

iy A - Sl favre F, <Al @1 g ufed i gl
HRUIR: (qafa;mﬁﬁﬁrumfﬂﬁﬁumnaﬁﬁaﬂﬂ?&mwﬁﬁﬂ?ﬁﬁmaﬁa
HGIE

IR HY & Heild H, i iU 7 fdhedi § I 99 Iugad Jo &1 99 $ifulg

(1) A3RREH gl § 3R R, A Bl GE ARAT @

(2) ARRGH UG g AfdA R A DI TS ATS 8 ¢
3) AUEIE AfFTrEEAETE

4) ATETEE AfbTR TG



Options :

92090656765. 1
92090656766. 2
92090656767. 3
92090656768. 4

Question Number : 93 Question Id : 92090614369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following
(A) AV node distributes signals conducted to heart apex, through ventricles to the
purkinje fibres.

(B) Atria empties after delay of 0.1second, and ventricle contraction takes place
when atrioventricular (AV) node produces impulse

(C) Sino Atrial node produces impulses, causing both atrial contraction
simultaneously

(D) The ventricles then relax and pointed wave ‘QRS’ occurs

(E) Heart again get ready for next round of atrial and ventricular contractions.

Choose the correct answer from the options given below :

(1)  (B), D), (C), (A), (E)
(2)  (C), B). (A). (D), (E)
(3 (A), (B). D), (C), (E)
(4)  (E), (D), (A), (B), (C)

Options :

92090656769. 1
92090656770. 2
92090656771. 3
92090656772. 4

Question Number : 93 Question Id : 92090614369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafefad ge-is ® 39 ufed g & ®H I Youayd Sifo -

(A) AV IS H&dl &1 o fF g0 oUd (TUa) $ SR Faid fad 1 § &1 Ada & g/
Wi dgsif & 7S o g

(B) 0.1 YPHUS DI & & UEd 3Mferg @il gid & qul Fags dgea gfed gar § &9
e e ud ([@18) a9 Iad Hial g

(C) Preaicic Ud M1d= IO gidl 8, T Hfere Y qY-2 gfed gl gl
(D) fera R §id 8 aun did ad ‘Qrs' ufed gt 31

(E) T&d UH: SFTA 9RUI & SHifere d Fag d%e & e AR gia1 8

1 fau U faeheul # 1 Wel IR $1 994 I ;

(1) (B). (D), (C). (A), (E)
(2) (€. (B). (A). (D). (B)
(3) (A (B), (D). (C). (E)
(4)  (E). (D). (A). (B), (C)

Options :

92090656769. 1
92090656770. 2
92090656771. 3
92090656772. 4

Question Number : 94 Question Id : 92090614370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PCR consists of a series of eycles and multiple steps. Arrange the steps in order

(A) Denaturation of DNA at 95°C.
(B) Primer annealing

(C) Strand separation

(Dy DNA synthesis

(E) Store at 4°C for further use.

Choose the correct answer from the options given below :

(1) A-C—-B—-=D—=E
(2) A—-B—-C—=D—=E
(3) A-D—-B—-C—=E
4 A—-C—-D—-=B-—E

Options :

92090656773. 1
92090656774. 2
92090656775. 3
92090656776. 4

Question Number : 94 Question Id : 92090614370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PCR (T41.3MR) Tl Pt gaanreil aur a8 a0l | fase & gidl 81 34 0N B HHeEG
ey Hifed |

A.  95°C TR 31.UAU. (DNA) &1 f[dPpfad Fur

B. UNYH® 3fHIcH
C. (¥3) T gyFHIu
D. DNA %9

E.  Hidsy UgnT & fou 4°C W HeRU
412 fRu 1t fasreul & 9 el IR &1 994 Fifoie

(M ASCuByDE
2 A—=B—-C—oD-—E
3) A—-D—-B—C—E
4 A—-C—->D—->B—E



Options :

92090656773. 1
92090656774. 2
92090656775. 3
92090656776. 4

Question Number : 95 Question Id : 92090614371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement 1 :  Cell cycle 1s the sequence of events by which a cell divides into two
daughter cells and duplicate its genomic content.

Statement 11 : It 1is controlled by cyeclin synthesis and degradation,
phosphorylation of cyclim-dependent kinases and binding of CDK
inhibitor proteins.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct

(2) Both Statement I and Statement 11 are incorrect

(3) Statement I is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement I is correct
Options :

92090656777. 1
92090656778. 2
92090656779. 3
92090656780. 4

Question Number : 95 Question Id : 92090614371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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YA || - T Tifaa GZamu & gR1 ay1 Fdieu, gsfdaa Ml $Ea9 & GleeREayH

3R COK HeHe UIH & de 4 Fafid grar 81

I HYA & 3fidld 1 At fGu U fawedi # 9 9al Iuidl 994 $ifeig

(1)
(2)
(3)
(4)

YT MR 1S T B

HYF | 3R 11 ST A B
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BY | 3T 8, Afh PUF 11 TA 8

Options :

92090656777. 1
92090656778. 2
92090656779. 3
92090656780. 4

Question Number : 96 Question Id : 92090614372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Type [ Diabetes is known as Insulin-dependent diabetes which is

an autoimmune disorder.

Statement I : Type II Diabetes 15 also an Insulin-dependent diabetes which

arises due to failure of cells to respond to Insulin

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are correct

(2) Both Statement [ and Statement Il are incorrect

(3) Statement 1 is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 1 is correct
Options :

92090656781. 1
92090656782. 2
92090656783. 3



92090656784. 4

Question Number : 96 Question Id : 92090614372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R al YA {3

Y1 : UDKR | AYHE B 3GfeH-FR AyfE & AW 9 oFE 91dl g S fb Us UhR 3
wulaeel PR 21

FYA || UHR 11 AYHE Wt sgfem- iR ayle off [ S iReel & sgfom & ufa e
&1 H 3R B P BRUBId 6

JWRITd HYA & Adld |, [d G U fdwedi 8 1 I8! I 99 Hifvig

(1) Y AR NGH gd g

2) Y AR NTH HTT §

3) HYTITAE AP HY I AT §
(4) U ANOA T, AfBT PN T ®

Options :

92090656781. 1
92090656782. 2
92090656783. 3
92090656784. 4

Question Number : 97 Question Id : 92090614373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Breakdown steps/procedures for Glucose formation in Liver

(A) In Liver, reserve food material Glycogen is converted into Glucose.
(B)  Glucose is released into blood.

(C) Pancreas convert proteins and fats into glucose

(D)  Due to hepatectomy, blood sugar increase rapidly

(E)  Glycogen is the main source of blood sugar

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B), (C) and (D) only
(3) (A), (D) and (E) only
(4) (A), (B) and (E) only

Options :

92090656785. 1

92090656786. 2

92090656787. 3
92090656788. 4

Question Number : 97 Question Id : 92090614373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gd B g1y fHf0r BT ged & R

A.  G%d H, a3y, G Ugr e @ 95d ol gl
B. T®IW & &It H Hig- fardl o g

C. 3UNE UK 3R a9 $f TS H 9ad adl g

D. TRueadiHt & SR, Yo IHw aoll § ggdi gl

E SR Yo & §81 Wid 7@ o ¢ |

i fGu e oo & @ 98 S &1 90 g -

(1) ad A B3IRC
(2) ad B, C3RD
(3) ad A D3RE
(4) Had A BIARE
Options :

92090656785. 1
92090656786. 2



92090656787. 3
92090656788. 4

Question Number : 98 Question Id : 92090614374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement about allosteric enzymes are correct?

(A) They are a class of regulatory enzymes.

(B) They function through reversible, non-convalent binding of modulators
(C)  Most allosteric enzymes are oligomeric

(D) They don't obey Michaelis-Menten Kinetics

Choose the correct answer from the options given below :

(1) (B, (C) & (D) only

(2)  (A) & (D) only

(3)  (A), (C) & (D) only

(4)  (A), (B), (C) & (D) only

Options :

92090656789. 1
92090656790. 2
92090656791. 3
92090656792. 4

Question Number : 98 Question Id : 92090614374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafifad 7 9 tareR® To1sH & aR ¥ ST $YF 9d &7

A. g e ezl &1 U a1 g

B. d8 IcPHUIN, HISGIcR & SrHgHdIo® a4 & gRI 1 &vd g
C. TR TARRS (sraRwie) TargH snferiafis gid g1

D. HEHiaH-T<A Tids (@1Z4Tea) &1 ura- T8l dd g

< T3 1T faeeul # 9 Hel IR &1 99 Hifole :

(1) &ad B,C3MRD
(2) &ad A3RD
(3) ®ad A C3RD
4) ABC3RD

Options :

92090656789. 1
92090656790. 2
92090656791. 3
92090656792. 4

Question Number : 99 Question Id : 92090614375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List 11 :

List I List IT
(A) Sucrose (I Glucose + Glucose (B1—4)
(B) Maltose (II) Glucose + Fructose
(C) Cellobiose (IIT) Glucose + Glucose { al—4)
(D) Lactose (IV) Glucose + Galactosze

Choose the correct answer from the options given below :

(1) (A)-D, (B)-(III), (C)-(D), (D)-(IV)
(2)  (A)-(ID), (B)-(ID), (C)-(D), (D)-(IV)
@ (Q)-AV). (B)-1I), (C)-(I11), (D)-(D)
(4)  (A)-(D, (B)-(ID). (C)-(IV), (D)-(D

Options :

92090656793. 1

92090656794. 2

92090656795. 3



92090656796. 4

Question Number : 99 Question Id : 92090614375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! | & |y g1 B e Sy

- gt -l
(A) i () TR + TR (B1 — 4)
(8) I () TP +Thaeld
€ JSdEEW () TIBTA + BT (] — 4)
(D) dac (Iv) TIDHM + e
A fdu Ty fawedl # @ |el a &1 99 Hifog:
(1 (A)-(I), (B)-(III), (C)-(1), (D)-(IV)
2 (A)-(II), (B)-(II), (C)-(1), (D)-(IV)
(30 (A)-(IV), (B)-(I), (C)-(N1), (D)-(1)
(4)  (A)-(l), (B)-(), (C)-(IV), (D)-(1)
Options :

92090656793. 1
92090656794. 2
92090656795. 3
92090656796. 4

Question Number : 100 Question Id : 92090614376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 1T :

List [ List II
(A) Xylem (I)  Vascular tissue of root/stem
(B) Trichomes (II) Epidermal cells in stem as outgrowth
(C) Phloem (III) Transports water and minerals upwards
from roots to the shoots
(D) Stele (IV) Transports sugars, byproducts from leaves
to roots.

Choose the correct answer from the options given below :

(1) (A)-aD, (B)-(), (C)-(D), (D)-(IV)
(2) (A1), (B)-(II), (C)-(IV), (D)-(I)
(3)  (A)-aV), (B)-(D), (C)-(ID), (D)-(IT)
(4) (AL, (B)-D), (C)-(11), (D)-(IV)

Options :

92090656797. 1
92090656798. 2
92090656799. 3
92090656800. 4

Question Number : 100 Question Id : 92090614376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) lIgeH (1) OISl B Hdgd Had

(B) CRHM (@AM () O DI IUB DRSS H dRIefE F E IH

(©) A (UNarg) () oS 9 §d 3R @l B a1 B 3R FHud
fo=n & Yafgd aRar 8|

(D) (&) I (V) b SR IUIAE] B U o8 Bl SR
RYFIRd $dl 8l

e fau U fawedl & ¥ Ogl 3u &1 994 Bife:

(1) (A)-(11), (B)-(l1), (C)-(I), (D)-(IV)
(2) (A)-(1), (B)-(11), (C)-(Iv), (D)-(1)
(3) (A)-(IV), (B)-(1), (©)-(1), (D)-(1)
(4) (A)-(11), (B)-(1), (C)-(I), (D)-(IV)
Options :

92090656797. 1

92090656798. 2

92090656799. 3
92090656800. 4



